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Assessment 8 Name: k@ Y
Dusty Wilson =359 v
Mathy2 54 )( e :”"2 /6 All truths are easy to understand once they are discovered;

W = b &. Fbg/ the point is to discover them.

= i Galileo Galilei
No work = no credit 1564 - 1642 (Italian mathematician)
No CAS Calculators

33" 2x
Warm-ups (1 pt each): Expand (3—2x)3 =R -5qx134x.@x7 coteo = O Of D

—

1.) (1 pt) Please paraphrase the quote by Galileo (above). Answer using complete English
sentences.

)41‘,\7&91‘%114— is 20~ 20,

2.) (10 pts) Answer the following:

a.) How do you determine if a vector field is conservative?

o, i
(,L»e.c,k_ 'F cwrly =0,

b.) What does it mean for work to be “independent of path?”

"‘)’Lu'g Aesns s 4*{14'_ wér'fu @u'\a gﬂe_boe_,/éos
onr qz)/.l_ é—ﬂo‘pofy-rg e, MOF 4444 f‘*"‘”‘ﬂ Lahozer,

c.) Given an example of a conservative vector field

N = Zx + y
TE = (2,15 ¢ Covservanve

d.) Give two parameterizations of y =x* on 1< x <3 (make sure to include the domain of

the parameter). -t:
X=>- € X = da.
2. e
\Z:t ‘ﬂt&
lce< 3 o v w3

e.) Use Green’s Theorem to determine what the line integral ) @C —ydx+xdy represents

geometrically.

..Lgp -y 0"7‘+X0"\2 :—ij )+ (D4 = %S 4 ola
e e R
\——f—\,—«/
yepro-Seans the amee of
Pagelof2 J’}(Z— (\g_?,ﬂ‘c),d 4_ch0$¢9} lﬂyé"—,



work =

3.) (10 pts) Evaluate cﬁc(6y+x)dx+('y+2)() dy where C is the circle (x-2)" +(y—-3)" =4

traversed counter clockwise.

weonk = jg 7-6dA

= b
$> ] -3X -
‘[}v) z -3X +?’£%X
| 99> =5y
. £7‘ % @"?51542 -
4.) (10 pts) Consider JC(Zx—3y+l)dx+(5—3x—y)dy for the curves C, and C,. o 7.
‘é\l’ +C

£ «97 rl

:

(@) » (b)

(2,3)

a.) Calculate L F-d7

F =7{¢ so 75 copsevare 50
the Hork =0

b.) Calculate ICF-dF :ﬁ(u.'s = Q(,O,"IB
‘ <
=(5-32)-(-5-D
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